Id

Question gy I =g &1 TIT HifaT|
IMTH
A I + 37k
B d 43
C qA + 37
D ¥ +Iw
Answer |B
Id 2
Question fersfaf@d weat # BT 91T ereg # Ygad €Y & YR T T

39 A GU fdshedl & & SHIfSIT|

e
A e Ef
B T |y
c fawer dfer
D ST H PG TGl
Answer A




Id

3

Question Rrafaf@d & & ws esg & gfae wAME &, 39 s &1 T
HIaT ?
A 3TSigeT
B AT
C et
D q&y fHg
Answer C
Id 4
Question | szg-g¥eT & HieT-ar TAT & ?
A FHURY
B L )
C deed
° dogE
Answer D
Id 5
Question |y ereg & IUEeT &1 IUAT fvar =T § 2
A )
9
B SEG
C ST
D feleT
Answer D




Id 6

Question grg* ereg & HIaTdT 39T NS fF 7T ‘HIg* & ST ?

A gy

B Gl

C 3

D for

Answer |A

Id 7

Question qaRra=hr 2reg &1 TIT FHIfoTT —
3=

A EIA
9

B qT

C el

D ITeTar

Answer (C

Id 8

Question | ggIarl 2reg T TIeT FHITATT —
IR

A afy

B 9T

C g

D IEIEUAT

Answer (C




Id 9

Question | fyeer ers / faudiardis ereg —
AT

A AT

B ATy

C foreler

D CETLY

Answer B

Id 10

Question | Jefrer oree / AU+ ol
AT

A 3SR

B CIBEI)

¢ Kl

D GIEG)

Answer |C

Id 11

Question| Prsfaf@d ereg-gea & T 3-8 #1 TaT AT -
“Hal* e, BT HieT-AT Y SAH =161 ¢ ?

A HIGHGT

B 3

C ETL3)

D arerent

Answer |C




Id
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Question

fArfaf@d eee-gedm & @@l 3-8 &1 TgT HifFT -
31aef ereg T 37T §-

A Y dr AT

B et

c aerardr

D 37eT

Answer A

Id 13

Question |faw a1 g # el Y Asc hI adal 3e[etr ¢, 3T FE dcieil
Telel & AT R e QU a0 § 308 & HET aclell arelr UAsq
;:lﬁm'_
g TET 1A &, Faeel d o |

A g

R ki

¢ g

il

Answer C




Id
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Question

fArafafad 7 @ T Use-efd F1 gad el

A 3cafehor

B 3T

C KIGRIIEIC)

D 3itgefierzoT

Answer |C

Id 15

Question rafaf@a ag & fov 3a% A T 1w wedt F & 3T
YR &l Aiegd FHIfow —
TS AT T TG He|

A 37 FgT & FATET go g AT

B geE g IR Jg 31 I

C Tger -4 forge g

D St 92 g, 3og GFHATA all

Answer |C

Id 16

Question farmfafd weat 3 GU v a9 7 & o # I ¢ 3R Fo
&eh §1 A arel arrg H TS e & A g1, 39 AT AT 3EWIh
(A,B,C 37aT D) & 9T 3 1 A arag 7 1S I 7 & S
e g d I & & & ffced HIiow

A a?g:&r@rara%%

B STacX & Aol & Ugel &

C 3% UIUT|9WE 33 91T

D FI e L

Answer |C




Id
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Question

Fjared FHEeldl gl

A e fhar3tt & o9 g &

B e foharatt & ersg weneT &t

C STEl fohdT T 9N a1 & sl o folal T aeel & 3TEN foha
ST gl

D STel Tshdm 1 GANeT e & ol A foler T guel & 36aR fonar
ST 2l

Answer |C

Id 18

Question | grerier & foIT T AT+ 2T —
faferse e R fafse ehe & Faer fear = faeadrgor
YT |

A HEATYOT

B ENEEIN L)

C 3TTHTYOT

D JFgETOT

Answer B




Id

19

Question |57t & dTcehifoleh aciATeT $T 3ETEI0T hiol-aT § ?
A dg Siar g
B g8 ST el &
C a8 o @T &
D dg Sirdr glam
Answer |C
Id 20
Question et 371 gereg R IR w18t &Y aTelr o1 gl &-
A Gl
B 3hHS
C ghHsh
D DIEIC
Answer A
Id 21
Question | Ministry of Women and Child Development will host the Sixth ‘“Women of India
Organic Festival’ in .
AT IR T M dA3m _ # ©ad ‘ARG Afgar sifds
HEIcHd" &l ATl M|
A Dehradun
B Mumbai
A
C New Delhi
g feeel
D Chandigarh
BEICI[
Answer D




Id
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Question | Which Bank has signed a memorandum of understanding with Small Business
FinCredit India Pvt Ltd (SBFC) to jointly provide credit to Micro, Small and Medium
Enterprises (MSME)?
oo d o g, oY AR ACIH AT (THUHTHAS) AT HIFd T § K0T
gl el & folv TATT fooieard  fhetshfse §31aT Ursde fofdcs (Tadivsar)
& gIY Ueh JHESHAT AT T g&deR ho g2
A ICICI
HTSEHTSHITS
B HDFC
TSR
C CANARA BANK
HheXT deh
D AXIS BANK
ufFad d
Answer A
Id 23
Question | Which country has declared the ancient Hindu religious site, Panj Tirath as national
heritage?
fora qar o yrier fiq enfites Torer o9 Ry &t Tl eieR afva famam €7
A Pakistan
qTfeREdTs
B Bangladesh
EIELIA]
C Iran
ST
D Iraq
ERED
Answer |A




Id
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Question National Table Tennis Championship held at Jawaharlal Nehru Indoor
Stadium in Cuttack.
TS o g ARTERT e F FaEIard Ag® 38R Lef3aH
H AT g3
A 75"
754t
B 77"
77 d¥
C 78
78 dt
D 80"
80 dt
Answer |D
Id 25
Question | World Braille Day is observed Every Year on :
faeg oo feaa gds av $I HATIT ST gl
A 1 January
1STeTadY
B 4 January
4 SeTadr
C 10 January
10 STeTadr
D 24 January
24 SAaRT
Answer |B




Id
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Question | In which city, Veer Savarkar International Airport is located?
frE e A IR AR AHAUSEYT gars 3HgsT fud g7
A New Delhi
g ool
B Bhuvneshwar
O
C Kolkata
hIeTehIdT
D Port Blair
gI¢ el
Answer D
Id 27
Question |Which State government bagged the Central Board of Irrigation and Power (CBIP)
award for speedy execution of Polavaram multipurpose project on the Godavari River?
foher T TAR o M & R drela¥d sg3teceia aRASTAT F caRkd
fasurest & fov ddr [Fars 3R faega S (HImsdn) Q&R Siar g7
A Andhra Pradesh
3T e
B Chhattisgarh
SATHIG
C Odisha
3f3er
D Telangana
RECICH
Answer A




Id
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Question | Which city has hosted Eighth International Marathon?
forE 28T o 370 IARTSET FYUT Fr AT T g7
A Cuttack
hceh
B Ahmedabad
gHCIEIE
C Kanpur
Pl
D Vadodara
CEICN
Answer |D
Id 29
Question | Union Cabinet approved a Constitution Amendment Bill to provide __ reservation
to the economically backward sections in the general category.
T ARAST o AHAET T # 3w ¥ & Nos gof & 3TR&TOT
Yald e & U veh dfdure geus g it Al &
A 18%
B 12%
C 15%
D 10%
Answer | D




Id
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Question | Who has inaugurated the Women’s Science Congress in Jalandhar?
fraa STerer A Afger AT FHa &1 3cures fwar 72
A Suresh Prabhu
A T3]
B M Venkaiah Naidu
TH dehdl A1
C Narendra Modi
g HAT
D Smriti Irani
C é
Answer |D
Id 31
Question | Who has won maiden ATP tour Tennis title at the Tata Open Maharashtra in Pune?
fohgal qur & erer 39T HgRISe H Ugell IR AN X Ay @ Sirar g7
A Mahesh Bhupathi and Leander Paes
ager aufa 3R faust 99
B Mahesh Bhupathi and Divij Sharan
#;E Ui 3R fefasr enor
C Mahesh Bhupathi and Rohan Bopanna
e oy 3 AgeT dre=
D Rohan Bopanna and Divij Sharan

Ugd Si9e=r 3R &fasr eror

Answer

D




Id
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Question |Rani won the Gold medal in the Senior National Women's Judo Championship
at .
el o # WiAI T8 Afger 1 AfFagereT 7 ool g
S|
A Hisar
fear
B New Delhi
g ool
C Visakhapatnam
IEKIREIEREE
D Kolkata
SICThIdT
Answer |C
Id 33
Question |Playback singer P. Suseela has been chosen for the Harivarasanam award. It is
instituted by which state Government?
gRAAAH qERR & T ared amges oY Geilell &l I arm § | I8 fohd
5T AR GRT T fohar arm § |
A Madhya Pradesh
qET USor
B Uttar Pradesh
3 JG
C Kerala
hlol
D Bihar
fagr
Answer |C




id 34
Question |Sheikh Hasina was sworn in as Bangladesh’s Prime Minister for a record
term.
UG AT o TEAGET HTI JUAHAT b & H Repis HAHTT & T
QI ol
A Second
B Fifth
o
C Fourth
arer
D Third
drar
Answer |C
Id 35
Question | Gruh Finance, affordable housing finance arm of will be merged with Bandhan
Bank .
I HPIST GISTAI BISAH ATET, I[E Bl & [dog Feel deh
H fohar SITueT |
A SBI
THEIS
B AXIS Bank
uiFad 6
C ICICI
TSNS
D HDFC
TASIURAT
Answer D




Id
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Question | Which Country started levying departure tax on each person leaving the country?
foha &2 & S BISA Tl Ycdsh hfFd T TEATA T S9N T Y fear?
A Japan
SIYTeT
B India
AT
C Russia
&g
D China
et
Answer A
Id 37
Question | Reserve Bank of India has appointed a five-member panel to suggest ways to improve
digital payments. Who will head this committee?
HARAT RET S o I & GUR & lish oIl & [0 90 Jeedg
e fagerd foar 81 5@ @fafa &1 gq@ Sl gem?
A Nandan Nilekani
siget farcrerufy
B H.R. Khan
T AR dleT
C Kishore Sansi
[EIcgR:Ir:)
D Aruna Sharma
37F0T QAT
Answer A




Id
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Question | In which city, Second Edition of Khelo India Youth Games held?
fore B # Woll ST3AT I I T gHU HERLOT AT fohvam amam § 2
A Kolkata
ShTCThIdT
B Jaipur
AR
C New Delhi
a5 feeelr
D Pune
qor
Answer |D
Id 39
Question | Which edition of the Raisina Dialogue held in New Delhi?
TTHT ST T HITHT FEROT 5 ool H AT g3 &2
A Fourth
gtar
B Third
T
C Fifth
" ol
D Sixth
Sol
Answer A




Id 40

Question | According to RBI' ‘Report on Trend and Progress of Banking in India 2017-18”, Net
profits of regional rural banks (RRBs) decliningby  in 2017-18,.
AT Rard e &1 '2017- 18 & ygfa 3R worfa ox dfdkar Hr RaE &
3TER, 2017- 18 & &1 0T depl (IRIRS) & Yeg oy & &
fRrae 3ms gl

A 6.1%

B 5.1%

C 9.1%

D 7.1%

Answer | C




ID
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Question Type Comprehension

Main Text In each of the following questions find out the alternative which
will replace the questions mark.
A e T gl 9o # A I G I § | TS agel
IeA & Gl el # Ueh woeey faam arar § aur gy gIA
FT TH 96 ofcd ¢ | GF 7 Aot # & 75 fawew g
ST g IIH & g § HA FFaed I@dT & |

Question Board : Train : : ? : Horse
AGeAT : ol : : ? : ©NST

A Shoe
Zol

B Stable
&l

C Ride
Elag.ﬂalil

D Sit
ST

Answer C

Question Salt : High Blood Pressure : : Sugar : ?
SJHG : 3Td {&FddY : : Al ?

A Cholesterol
hlelEclel

B Diabetes




HYAT

S

C Sweet
fAors

D Dehydration
QR

Answer B

Question 24:60::210:7?

A 505

B 425

C 420

D 525

Answer D




Id
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Question

Pointing to a man in a photograph, a woman said, “His brother’s father is
the only son of my grandfather, “How is the woman related to the man in
the photograph?

Wqﬁaﬁwwﬁ?raﬁraﬂtgawmgwwﬁaﬁ?ﬁ%ﬁs
"SHE TS T AT M arer F Shellh qF ¥ |9 O 39 AR
q g R gFafewd g ?

A Mother
HATAr
B Aunt
Ty
C Sister
sgal
D Daughter
gaT
S
Answer |C
Id 45
Question | Anil introduces Rohit as the son of the only brother of his father’s wife.
How is Rohit related to Anil?
Hﬁﬁﬁ%ﬁ%ﬁ&ﬁaﬁlﬁg@m%%"wmm@r
Ueail o Seholld 815 T 9 & | Ve & e & 41 TFaer g 2
A Cousin
HIT AS
B Son
hEl
C Uncle
BIE
D Brother
Answer |A




Id
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Question

Pointing to a photograph, Rohit said, ”’she is the daughter of my
grandfather’s only son. ” How Rohit related to the girl in the photograph?

TS HieT H Th a5l foh 3R SANT I T Afed gl & b
'gg AR TTal & Sehelld IF T TN &7 | AR 7 37 of5ehr &
qFaeY g ?

Father
o

Brother

TS

Cousin

SioleT

Uncle
BIE

Answer

B




ID
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Question Type Comprehension

Main Text In each of the following questions, four words have been given out
of which three are alike in same manner, while the fourth one is
different. Choose out the different one.
T Y T vAF U H IR s Y ¥ § e @
el ARRad I & TA § SIafh aiar dar @ e g
e eeg AT FITY |

Question Choose the different word from the following.
e & @ e 2ree gAY |

A 11

B 16

C 22

D 29

Answer B

Question Choose the different word from the following.
e & @ e 2ree gy |

A 31

B 36

C 27

D 42

Answer C

Question Choose the different word from the following.
e & @ e eree g |

A 25

B 36




C 49

D 65

Answer D

Id 50

Question | In a certain code language, GERMINATION is written as
IMGRENNOAIT. How is ESTABLISHED written in that code?
T AT g HWT A GERMINATION &I IMGENNOAIT fer@r
ST & | 38 9T H ESTABLISHED &1 & for@r Srem?

A BEATSLDEIHS

B BAETSLEDIHS

C BATESLDEIHS

D BAETSLDEIHS

Answer D

Id 51

Question | In a certain code, BASIC is written as DDULE. How is LEADER written
in that code?
T fAf¥ad $Is HWr 3 BASIC @I DDULE for@r Sirar g ar 34
$I5 HIT #§ LEADER & 8 for@r smem?

A NGCFGT

B NHCGGU

C OGDFHT

D OHDGHU

Answer |B




Id 52

Question | In certain code. CLOUD is written as GTRKF. How SIGHT written in that
code?

T AfTd 15 99T § CLOUD I GTRKF for@r Srar § |ar 34
PIS YT H SIGHT & hd for@r JA=™Jam?

A UGHHT
B UHJFW
C WHIGV
D WGJHV

Answer D




ID
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Question Type Comprehension

Main Text In each of the following questions a number series is given with
one tern missing. Choose the correct alternative that will continue
the same pattern and fill in the blank spaces.
A R I uchd U H T Huiy & iy § Swe v
9e o § | R Rwedt #F @ 3@ @ fwew w1 g o
& Y AON T ITAOT FIAT & |

Question 13,35,57,79,911, .....7 .......

A 1110

B 1112

C 1113

D 1315

Answer C

Question 8,13,13,23,18,33, ......7.......

A 23

B 21

C 31

D 35

Answer A

Question 4,9,16,16,25, ......7 ........

A 42

B 49

C 38

D 52

Answer B




ID
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Question Type Comprehension

Main Text Read the following information carefully and answer the question
given below. Six People C, D, E, F, G, and H are standing in a
straight line facing north not necessarily in the same order. D is
second to the right of F. C is standing fourth to the left of H and H
Is not standing on the extreme end of the line. E is standing second
right of D.
A & IR SR A eAAYaE afed qur & R gt
& 3N A | sga@Fa C, D, E, F, G dar H 3o feam
dr X He Hlh T AN W1 & @3 g (T e fh
I HAHA) | D, F e g ¢ | C, H & T =Y T
W @ & | dUT H @r & et o ok W 8T @ § | E,
D & e g8 TIT W Tl ¢ |

Question What is the position of G with respect to E?
E & FdetT H G & TUT Hi AT?

A Immediate left
TeheH o0

B Second to the left
SIC & g@l

C Third to left
a7 H AT

D Third to right
g ¥ drE

Answer C

Question Which of the following pairs represents the people standing at the

extreme ends of the line?




et & @ wlear gow qefar & T ¥ et cafea @ &
NPT BR W 86 87

A FH

B CE

C DE

D DH

Answer B

Question Who is standing second to the right of C?
C & e g@Y T W whisT ST §7?

A F

B D

C G

D E

Answer C
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Question | Arrange the words given below in a meaningful sequence.
1. Salary 2. School 3. Child 4. Employment 5. College
ST G I ersel B Tk AT he H ATd |
e U TP 3.TTAT YAl 9 ol

A 2, 3,5 1 4

B 3,2,4 1,5

C 3,1, 2 4,5

D 3,2,5 41

Answer D

Id 60

Question | Arrange the words given below in a meaningful sequence.
1. Pulp 2. Jungle 3. Timber 4.Book 5. Paper
S & I euegl Hl Uk ATSH e H cIARAd Pl
LA RS 3. s Y. fRdE g FETS

A 5 3,2 1, 4

B 2, 3,1, 5, 4.

C 4, 1, 3, 2, 5.

D 1, 3, 2, 4, 5.

Answer B




Id
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Question |B borrows 5,000 from A at 6 % p.a. simple interest and lends it to C at
compound interest of 10 % p.a. If B collects the money back from C after
2 vears and repavs A, the profit made by B in the transaction is
B ¥ 5,000 &I €Iy A & 6% HATIRUT SISl I &I T IUR
oIdT § d2T C &I 10% (p.a.) ThIGT AT &I &I & 3UR & odl
g | af¢ B, C & 2 a¥ Iard YeT UIed Xl & ddT A &l arod
AT & 5H Fel UihaAT ' B FT Fel fohclall w1sT 312

A Rs. 1,050

B Rs.500

C Rs.450

D Rs.600

Answer C

Id 62

Question  One certain Principal if the Simple interest for two years is Rs 2400 and
Compound interest for the two years is Rs 2544, what is the rate of
Interest?
us fAfead Riffua 3R & @t & fav areror sars 2400 &9
3R & AT & AT TRl sATer 2544 T B, o ST & AT
g?

A 12%

B 6%

C 24%

D 18%

Answer A




Id
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Question | Nitin borrowed some money at the rate of 6% p.a. for the first three years,
9 % p. a. for the next five years and 13 % p.a. for the period beyond eight
years. If the total interest paid by him at the end of eleven years is
Rs.8,160, the money borrowed by him ( in Rs. ) was -

AT ¥ Fo U TE 3a96% aIF AT &, I 5

a¥9 %ari¥er dAT 8 a¥ & SG13% TTNH TS X 3R ol Ifg
11a¥ & 3 & 38 FHol ST Rs.8,160 AT Fel B &, of
3YR o 35 T (Rs. # ) U]

A 12,000

B 6,000

C 8,000

D 10,000

Answer |C

Id 64

Question | A shopkeeper allows 23 % commission on his advertised price and still
makes a profit of 10 %. If he gains Rs.56 on one item, his advertised price
of the item, in Rs. is
Ueh gehlelgR AT Hed TW23% HHRM &l & dTasa10%
oA HATT § | i T G W I56 AT HACT g, dAl a&J H1
fa=iad #qea AT ¥ |

A 820

B 780

C 790

D 800

Answer D
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Question |With a 5 % discount on the cost of sugar, a buyer could purchase 2 kg.
more suagar for Rs. 608. Oriqainal sellina price of suaar is.
el & HIAT H 5% HT T &l & 916, HIs Agh I 608H
2f.a1m. SaTer Al WG Gehdr gl ar i 1 arEdide fdsha
Hed &1 ¢

A Rs. 15.50

B Rs. 15

C Rs. 16.50

D Rs. 16

Answer D

Id 66

Question | In a factory 60 % of the workers are above 30 years and of these 75 % are
males and the rest are females. If there are 1350 male workers above 30
vears, the total number of workers in the factory is:
T thael & 60 % HAART FI 373099 ¥ J¥H g 3R 58 &
75% T&Y AT AY Afgerd § | TG 1350 T&Y HAARAT S 37
30 a¥ & IW g, o bl H el fohcdal weuRY 872

A 3000

B 2000

C 1800

D 1500

Answer A
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Question 40 men can complete a piece of work in 40 days. They started the work
together. But at the end of each 10th day, 5 men left the job. The work
would have been completed in?

40 ofrer fRET FT @ 40 et F X Hhd & | 3ol U |1y
HIH T AE AT | dAfhed gds 10 & & 3ol W 5 aier
A OIS ¢ ¢, ar A fhder feat & FaTea grem ?

A 56§days

B 1
53§days

C 52 days

D 50 days

Answer A

Id 68

Question | If p men working p hours per day for p days produce p units of work, then
the units of work produced by n men workina n hours a day for n davs is
Ifg P&y Poe gfdfee 1A &t Piesl # PIfc HTH &d ¢ |
' n 989 n g yfdfee HE #eh n el # el fae s
HL?

AL
nZ

B ¢
nZ

C n?

p?

D n’
p?

Answer D




Id
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Question | The speed of the current is 5 km / hour. A motorboat goes 10 km upstream
and back again to the starting point in 50 minutes. The speed (in km /
hour) of the motorboat in still water is:

URT &7 el 5 fh.AL/EReT § | Th HieIdle URT & 9fddhel10
for.all. gr dF T § d91 50 fAde # 3RS fdq W a9y 3m
ST §, A T T & Ale@le $r Tra ( FaA/Ee #) AT w2

A 20

B 26

C 25

D 28

Answer |C

Id 70

Question | A distance is covered by a cyclist at a certain speed. If a jogger covers half
the distance in double the time, the ratio of the speed of the jogger to that
of the cvclist is
Ueh Higfehel dTell AT gl I, WRTd oI1er & dF i § |
T SR 38 3TN g8 & QR §AT H dF adl § | SR
quT TTEfRe aTe T ATE F AN A FIT |

A 1:4

B 4:1

C 1:2

D 2:1

Answer A
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Question | The ratio of the outer and the inner perimeter of a circular path is 23 : 22,
If the path is 5 meters wide the diameter of the inner circle is :
gAThR 9Y & STEd dUT 3HTedReh TRAGT T 3Heqdrd 23:22 § |
Ife gU 5 Hex disr &, ar ediker HET T TH AT HI?

A 110 m

B o5 m

C 220 m

D 230 m

Answer |C

Id 72

Question | In triangle PQR, points A, B and C are taken on PQ, PR and QR
respectively such that QC = AC and CR = CB. If ZQPR = 40°, then
£ ACB is equal to:
APQR &, fowg A, B daT C &#AU: T PQ, PR d4T QR W 3
R folw 3 fF QC = AC dar CR = CB, If¢ 0QPR = 40°
&, a9 DACB 3I1d &{?

A 140°

B 40°

C 70°

D 100°

Answer D
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Question | Arun buys one kilogram of apples for Rs . 120 and sells it to Swati gaining
25 %. Swati sells it to Divya and Divya again sells it for Rs. 198, making
a profit of 10 %. What is the profit percentage made by Swati?
HEUTRs. 120 U fahciland @ @lgdr § 3R25% o1 & arg
dg 3¢ TN &I 9T &l ¢ | T 3o¢ [Gedm &I &9 &l g o
3¢ T & fgear 10% o & ArYRs.198 & 99 &t & | &arfa
o e et ufaera AfSia fasar aram?

A 25%

B 20%

C 16.67%

D 15%

Answer B

Id 74

Question | Of the three numbers, the second is twice the first and it is also thrice the
third. If the average of three numbers is 44, the difference of the first
number and the third numbers is:
e HEaT3t # Sfady FEALIYH FEAT & 2 I & s{e] adT
o HEAT & 3 9 & S ¢ Tfe sl FEa13it &1 3ad 44
gLl JUH FEAT dUT I HEAT F IR AT HL |

A 24

B 18

C 12

D 6

Answer |C




Id
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Question | The average of all prime numbers 21 to 50 is (round off to one decimal
number)
218 50d% Fr @t 3HTT FEATHT &1 3T AT Y | (Th
A HET oo qUlieh &)

A 35.9

B 34.8

C 33.7

D 32.9

Answer A

Id 76

Question | The value of sec*A(1 — sin*A) — 2tan?AiS:

sec*A(1 — sin*A) — 2tan?A4 T HTT BI9M:;

A 1
2

B 0

C 2

D 1

Answer D

Id 77

Question |3 men or 5 women can complete a work in 12 days. Accordingly, how
much time will it take for 6 men and 5 women to do the same work?
3q&Y AT 57T Teh w12t H QU AT Hehd 81 ACTHROTEST
aur 5 &3 & It F A F fhdedl FAT Tem?

A 4 days

B 5 days

C 6 days

D 7 days

Answer A




Id
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Question | Three partners invested Rs. 42000, Rs. 48000 and Rs. 32000 respectively.
partnership condition is that, each will the get interest on his capital at the
rate of 7 % p. a. and the remaining profit will be divided in the ratio of
their capitals. If at the end of the year the total profit is Rs. 32940, then
find the share of A in profit.
frdly eamaR & i A1sieRA |, B dar C &HA: 42000,
Rs.48000a2T Rs. 32000faer #id & | @BIGRT T T I8 ¢ T
Yk 30T Yol T 7 % alf¥eh &Y & ATeT ofdl St ot & 4 &
fe=r Sruem qur AW o F ARG ol F requra # aredr | afg
Uh a¥ & 3Hed H Fol I 329401 oleT E3 gLal 30H q A T
feear &r grem ?

A Rs. 12960

B Rs. 11340

C Rs. 8640

D None of these

Answer B
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Question | The top of two poles of height 24m and 36 m are connected by a wire. If
the wire makes an angle of 60° with the horizontal, then the length of the
wire is
2471, Fur 367, & 3= g3l & Te dR @ ST A1 § | I
dr &fasT & 60°&T HIUT IATdT &1 de dR T JFas AT AL |

A 6m

B 8 V3 m

C 8m

D 6\3 m

Answer B
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Question

Two numbers are in the ratio 3 : 4. Their LCM is 84 . The greater number
IS:

al T&aT3it 3 1 4 & HeJUld A §, 37T .F. 84 B, A 3AH 4
I3T &IT FIT g7

A 21

B 24

C 28

D 84

Answer |C
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Question | A recent survey identified the UK as .............. place in Europe to buy a
car.

A most expensive

B the more expensive

C more expensive

D the most expensive

Answer D

Id 82

Question | In a language, learning class meaningful environment can be created by

A Fun activities

B Dramatisation

C Story telling

D All of the above

Answer D
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Question

Which of the following statement(s) is/are correct?

A. Skills should be developed in sequential order and in an integrated
manner.

B. Listening involves learning, processing and evaluating.

C. Top-down strategies of listening are listener based.

D. Top down and bottom up strategies of listening improve
comprehension of the learners and increase their confidence.

A Only A

B Only Band A

C Only C

D All of these
Answer D

Id 84

Question | In the following question choose the correctly spelt word.
A Scripture

B Scriptur

C Skripture

D None of the above

Answer

A
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Question

Select the alternative which is the best substitute of the phrase.
A funeral poem

Elegy

Pandemonium

Parody

O 0Ol >

Sonnet

Answer

A

Id
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Question

In question below has two blanks, each blank indicating that something
has been omitted. Choose set of words for each blank which best fits the
meaning of the sentence as a whole.

Human beings are biological ; they need to be grounded in time and
place or else they come :

things, forward

souls, back

organisms, unhinged

OO o >

creatures, again

Answer

D
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Question

Read the following passage carefully and give the answer of the questions.
When you buy a car, examine carefully the important features of the
model you are considering. Many a buyer of the latest model has got into
trouble by buying a car too broad or too long for his garage. Further more,
a long car is too hard to manage in traffic and too difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably
upholstered? Is there enough glass to give the driver a god view in all
directions, particularly to the rear? It should be remembered that the
heavier and the powerful car is, the more expensive it will be to operate.
High powered motors, require expensive high-octane petrol. The greater
weight means greater tyre wear and enlarged brakes. The old cliche is still
true, it is not the initial cost but the upkeep which matters.

The size of the car should be in accordance with

A the money one can afford to pay

B the size of the garage the buyer has

C the width of the road where the buyer lives.

D the volume of traffic on road

Answer B

Id 88

Question | Select the antonym of the given word.
EXPANSION

A augmentation

B extension

C compression

D inflation

Answer B
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Question | Select the correct active form of the given sentence.
Every passing vehicle was being thoroughly checked by the guards.
A The guards have thoroughly checked every passing vehicle.
B Every passing vehicle were thoroughly checking the guards.
C The guards were thoroughly checking every passing vehicle.
D The guards have been thoroughly checking every passing vehicle.
Answer C
Id 90
Question | Use the verbs given in brackets either in Active or Passive according to
sense of the given sentence.
The student........... at the moment. (punish)
A are being punished
B being punished
C is being punished
D will be punished

Answer

C
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Question

Choose the correct alternative of the following sentences.
He said, “What a beautiful scene”!

A He said that what a beautiful scene it was

B He wondered that it was beautiful scene

C He exclaimed what a beautiful scene it was

D He exclaimed that it was very beautiful scene

Answer D

Id 92

Question Rearrange the following five sentence (A) , (B), (C), (D) and (E) in the
proper sequence to form a paragraph; then answer the question given
below them.
(A) A small wooden nest box is all it has taken to rekindle all the romance
of bringing sparrows and other birds back into our cities and halt them
from fading into the past like a forgotten folktale.
(B) There is something wrong with a city that remains unperturbed even
as its birds desert it.
(C) Thankfully, the situation is not as hopeless as it seems.
(D) Much as we try to defend the seemingly irreversible modern life of
these cities, we can’t stop our hearts from crying when we realize that our
rapidly degenerating urban eco-system isn’t generous enough to let these
delicate winged creatures build tiny little nests in its nooks and crannies,
sit in solitude, and rear offspring.
(E) And this desertion seems to be true with most metros in India where
house sparrows have almost become a thing of the past.
Which of the following should be the THIRD sentence after
rearrangement?

A A

B E

C B

D D

Answer D
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Question

Given below are four jumbled sentences. Select the option that gives their
correct order.

A. An environmental group performed a necropsy on the animal and found
about 40 kilograms of plastic, including grocery bags and rice sacks.

B. A4.7-metre long whale died on Saturday in Philippines where it was
stranded a day earlier.

C. "It's very disgusting and heartbreaking," he said. "We've done
necropsies on 61 dolphins and whales in the last 10 years and this is one
of the biggest amounts of plastic we've seen."

D. "The animal died from starvation and was unable to eat because of the
trash filling its stomach," said Darrell Blatchley, Director of D' Bone
Collector Museum Inc..

A BACD

B ABCD

C DABC

D BADC
Answer D

Id 94
Question |Choose the word meaning SIMILAR to the word: EMBATTLED
A Respite

B Death

C Crenelated
D Hiatus
Answer |C
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Question  Apple Pie Order

A In random order

B Related to fruits packing

C Related to dry fruit packing

D In perfect order

Answer D
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Question | Select the proper suffix..
Beauty

A Fy

B Fi

C Ice

D Ic

Answer |A
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Question | There are real possibilities of ensuring a modicum of nutritional
and economic security to all households.

A stop, secure

B support, vulnerable

C frustration, protected

D opposition, safe

Answer

B
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Question

Choose one word which can meaningfully replace the underlined words in

both the sentences without changing the meaning of original sentences.
1. Teachers understanding of the English subject was really good.

2. The mother had to hold on to the door-handle with all her strength to
get the baby out.

A pull

B grasp

C seize

D compass

Answer B
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Question |Pick the word/phrase which is most nearly opposite in meaning.
ASPIRATION

A dislike

B eagerness

C passion

D objective

Answer |A

Id 100

Question |Following is a set of four sentences. Choose the sentence which is most
appropriate — grammatically, semantically & logically.

A Sorry to keep you. How long are you waiting?

B My apologies for delaying. How long have you been waiting.

C Sorry to keep you. How long have you been waiting?

D Sorry for the delay. Since how long are you waiting?

Answer

B




